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vm = RubyVM.new ( “ r u b grg], ” ) [
- [arg] Ruby

-e option
vm.start ([ arg]+)
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ch = RubyVM:: Channel.new
ch.send (obj)

- Marshal
- ch ch
ob] = ch.recv
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VM ch.recv ()
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MVM, Channel

1 Master — 10 Worker

# parent.rb

ch = RubyVM::Channel.new

vms = (1..10).map{|i|
vm = RubyVM.new ( vin#{i} ochild.r®s )
vm.start(ch)

}

tasks.each{|task| ch.send(task)} # worker

vms.each{ch.send(nil)}
vms.each{|vm| vm.join} #

# child.rb
ch = RubyVM::ARGV.shift
loop{break if task = ch.recv; work(task)}
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(a) Basic string representation (b) Shared strings

. / Rstring (strO - '
RString String body J (_ ) Stclng“?:,?dy
“Hello” Frozen: true .

Rstring (str1)

Shared: true

Rstring (str2)

Shared: true
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(b) Send a string from VM1

(a) Before transfer

String channel channel _
bod
VM1 - VM2 VM1 - VM2
(c) Receive a string by VM2 (d) String in VM1 was collected

channel channel
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- Intel Xeon E7450 4 cores X 6 processors = 24 cores
- Linux 2.6.26 -2-amd
- gcc 4.3.2 -03

Ruby ruby 1.9.2dev 2010 -08-16




Ruby 1.9 (#) MVM (#) FIThERELE (1.9/MVM)
mandelbrot 8.51 13.85 0.61
tarai 1.14 1.57 0.72
pentomino 28.95 39.59 0.73
regexp 1.97 2.09 0.94
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faRICFFH LA T 227 F | pipe () Channel (%)
1 0.41 0.35
1.1 0.52 0.34
219 (Bignum) 0.45 0.56
Object.new 0.50 0.58
1 ping pong
1,11 pipe
. Marshal Bignum  Object
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